
Language Fun

Forum: Riddles ï¼ˆè¬Žèªžï¼‰
Topic: è¬Žèªžæ•…äº‹
Subject: Re: è¬Žèªžæ•…äº‹
Posted by: Anonymous
Posted on: 2007/8/26 18:13:33

Quote:

futari wrote:
æ—¥åœ“å±±é«˜è·¯å•£é•·
é›²æ©«é›¨(ç´°/æ¼¸)(è‡¥/æŽ›)æ–œé™½ 
æ‰•èˆŸæ©«æ¸¡ç„¡äººé•Ž
é¢¨(æ•²/å•¹)èŠ±(è•½/å‡‹/è¬•)å•Šæ—¥é¦™ <- "è¬•"? not sure of its "spelling"
é¢¨(æ•²/å•¹/æ‹‚)(è•½/å‡‹/)èŠ±å•Šæ—¥é¦™

hahaha!!

Hi Lady

I am confused! hahaha!

In your original solution, Lines 3 and 4 are perfect.  Lines 1 and 2 require slight modifications in
accordance with the prescribed solution that I have on hand.

If you will, try again please!

Cheers.  
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